T}&0] AABC & #Ztol5uatztdelt. ojnf x o] Zhe?

® 3v2 (@)4@ ®5v2 @6vV2 O TV2

AB=AC 0|82 2+ x2 =282 252 =64
32 =32, x>00]E2 x= 32 =42




ohS 13894 AADE = ABEC ©]1, AD = 3cm , BC = 6cm &
ADEC 9] glo]& Fotefzt,

3c

A D
E
B ~ -
~6cm-~
p = cm?
> Het: 2o

AD = EB = 3cm , AE = BC = 6cm , (ED)? = (EC)? =
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2t | sin ‘ cos | tan

25° 10,42 0,90/ 0,46
50° 10,76 0,63 1,19
70° 10.930.34 2,74

cos 50° + cos 25° x sin 50° — tan 25°
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> ®ehl 0.854

(£4]) = 0.63 + 0.90 x 0.76 — 0.46
= 0.63 + 0.684 — 0.46 = 0.854




8. & IHANA x o 27

D 7+8V2 @ 7+8V3 ® 8+8V2
@)s+sv3 ® 9482

B

— 1
BD = 16 cos 60° = 16 x 3 =38

o 3
DC:AD=16sin60°:16x‘/7_=8x/§
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@ sin30° = 3 @ cos30° = ? @ tand5° =1
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® tan60° = V3 o[t}




14. & a3 Zo] /B = 60°, «C = 45° ¢l AABC o4 AHLBC o],

AB = 8cm ¢ m], AC 9] FoJ=?

@® 4cm @ 4V3cm 3 4+v6cm
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AQ = V132 -52 = V169 - 25 = 12
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AP+PC=+/(3V3+2V3)2+52=10

E, 12 AG = /(3V3)2 + (2V3)2 + 52 =8
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